12—8 REBHEX

= IEEHX 4 - s (ha) = IEEHX 4 - miE (ha)
HEmH Hm (91.76) RAZET  |Bh#(20.00)
sth T %455 (31.00) 5t FH LI (396.86) BiFt #EEIFIL(50.10) 7KFE (266.00)
=Y =7 (42.00) —>H25.4 14 [+ B LE RIEFHH  |#FHRIWL(106.00) 18;KF L (87.00)
{EEF#A R (11.00)
&&t 9Hh X (1059.72)
GE) Fr25F4BRE (LK. B, aim. Bk, 2. BT, FHET

EUOtBEHOFRUEARMMK, RAZEHTONREMEABMRERS )

BB - - - BT DRI EHRF T S0 B EIEICL>TEDON MK,
fipAih, FpEith, K EFED RIFEBRMRBICEA TSR,
RIFGEFRRZHFLTOORE. AEFOELEMERDHIREFE
MABMKX | ELTHEEL. CNICKYEFISISEVES A FKICEALREGHHIREZE
HELISIETDIOD,



